‘ =" &8 =56 YRR (axtby+ez=d)
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C S 5y-3z=10 P Sx—ly+ 1z =21
x+1ly+2z=29 dx+3y—5z=1
2x+ 3y +2z=25 2x—ly+1z=9

3. _ 4.
2x+ 6y —4z =20 2x—5y—3z=-3
6x+ 1y + 5z =60 6x — 6y + 3z =48
6x+2y+1z=45 dx+ 5y —1z=29
3x+ 1y — 12 =20 o ex—6y+1z=32
2x— 4y —6z=-12 3x— 1y + 5z = 54
Sx—1y—1z=30 6x+ 6y +2z =152
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Sx—5y—3z=10
3x+ 1y+2z=29
2x+3y+2z=25
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2x+6y—4z=20
6x+ 1y + 5z =60
6x+ 2y + 1z =45
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3x+1y—1z=20
2x—4y—6z=—12
Sx—1y—1z=130
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Sx=1y+1z=21
4x+3y—5z=1
2x—1y+1z=9
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2x—5y—3z=-3
6x — 6y + 3z =48
4x+ 5y —1z=29

N o=
I
A=

6x— 6y + 1z =32
3x—1ly+5z=54
6x+ 6y +2z =752
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